EARAROBEEIERT — 2 N— IBISH —F 20155 12A8H () 19E£R2H

mlEl?Eiﬁﬂﬁff.—*r?ﬂJ B21 ¥5%—#% ‘ (X4l W ‘ (sl — | 4 (B 1500 &
[AE4£] 1% :19,000 ™ ~ 23#%:38,000”W ~ 33#%&:17,000 M  43%&:13,000 53 :7,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= . 3 | EEEGLA 1:37.5 1-1-1-1 | 40.0| — 1 445 | HBARR (£R)
1lglig| ¥~¥—Hv777> # 5.0 (=) (13) | ) Fr—2pEYa>
LA IxATv— B:y—)—7J I=iatie]
= = . : t> 6 | BMIER 1:38.3 7-66-5 |39.9| — 6 483 | HARRK (£R)
2 4| 77147 AR - 56.0 (4) 2 | W) Fr—XbETa>
LBATATv— B:TSyordT) R (B) #A—-KL—va>AET77
MHHIES] : -10-7- — FHX (2R)
3 3| 7V7—X i 6 o 1.(349).2 10-10-7-7 | 39.8 4 (i??) o
R ZZHw R BAYIZXTFIVR ERHS
— . o FHARK— : —5-3- — HARR (£IR)
4 o|T—F1—vasy H o9 S (17.3;% 6-5-3-2 | 41.0 3 (411) B 3
AR HE—y B vaA—Ta2/— IS 4%
+ . _4-a-. - y
5l | Ny RYLTY 4 5 S%J%EA 1.(319).4 4-4-3-4 | 41.3 2 :730) ﬁﬁﬁgf (£R)
R:id—IWR7PY2—) BT xO—H R A
S o, P BREBA M) : -9-8— = HiE—t (&R
6 6 = ST oo 4 9 e 1.(440).2 9-9-8-9 | 40.7 10 (4+810) i
LA —=JIh7x B:TLRU=F1> SV VIt
. . hEgeth . 90— — EEEE (£R)
717l g|vFr—n—> it 3 il 1.(410>.4 2-2-2-3 | 42.6 5 <4+351> /Jvrﬁém
R:TRYAYL—> Bi1 Uy RTLAL FE S
. N # 3 | REE 1:40.9 7-8-8-8 |41.6| — 8 483 | HARR (£R)
gl 7| 71> 74 T/~ 2 @ 1/2) @) | 8 P NI
:ArFaMy b BiYIY-—I4=71 ARETa—-T7—L4L
ol — N B 41, -3-3- . — REBZ (2R)
9l5/5| FTUTx—a i 7 o 1(741t§) 3-3-3-6 | 43.0 9 :1_348) kacptf;)‘c
LXNT T4 XF— BT7H2INTHAX Sgkie]
N - BRANELRE 41, -7-8- . - SiEEE (&R
10/8l9| *T>avrxy i A52.0 (12411/25) Tei0 | 42.2 ! ?_5; R
L:ALNTyTILE BT r—F%vy T iy —%
® 1—F—@EBIERL
13—+— |10,8,5,(1,9),2,(4,7),6,3
23—94— 10,8,5,1,2,4,9,7,6,3
3a—+— |10,8,(1,2,5),4,3,(6,7,9)
40—+ — 10,2,8,1,4,5,3,7,6,9
[ /N
B 10 1004 714K 4-10 780M e E 4-8 1,200 JEE 3-4-10 4,860M
B B 10 110H 3-10 300M e B 8-4 1,330 JEE 10-4-3 9,840
4 390H 3-4 2,080 B & 4-10 1,110
3 270M B H 10-4 1,410

ABICOVWTRDTEEERROODE. TR LIV,



